
Πίνακας Συντεταγμένων των κορυφών του 1,2,3...............

Εμβαδόν τεμαχίου = 4057.57 τ.μ. - Περίμετρος = 298.07 μ.
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α/α                    Χ                    Υ             Αποστάσεις

1 623718.77 4480756.96 ----

2 623706.81 4480766.91 1 - 2: 15.56

3 623720.38 4480792.90 2 - 3: 29.33

4 623740.13 4480835.46 3 - 4: 46.92

5 623781.88 4480828.05 4 - 5: 42.40

6 623790.89 4480823.96 5 - 6: 9.89

7 623757.45 4480775.04 6 - 7: 59.26

8 623725.11 4480723.60 7 - 8: 60.76

1 623718.77 4480756.96 8 - 1: 33.96


